#### **Purdue University**

## Purdue e-Pubs

Department of Computer Science Technical Reports

Department of Computer Science

1998

# The Hermite Cubic Collocation Approximation to the EigenValues and the Eigenfunctions of the Laplace Operator

Wayne R. Dyksen

Report Number: 98-001

Dyksen, Wayne R., "The Hermite Cubic Collocation Approximation to the EigenValues and the Eigenfunctions of the Laplace Operator" (1998). *Department of Computer Science Technical Reports*. Paper 1393.

https://docs.lib.purdue.edu/cstech/1393

This document has been made available through Purdue e-Pubs, a service of the Purdue University Libraries. Please contact epubs@purdue.edu for additional information.

The Hermite Cubic Collocation Approximations to the Eigenvalues and the Eigenfunctions of the Laplace Operator

Wayne R. Dyksen

Department of Computer Sciences Purdue University West Lafayette, Indiana 47907

> CSD-TR #98-001 January 1998

The Hermite Cubic Collocation Approximations to the Eigenvalues and the Eigenfunctions of the Laplace Operator

#### Wayne R. Dyksen<sup>†</sup>

Abstract. Piecewise Hermite cubics have been widely used in a variety of ways for solving partial differential equations. For a number of these techniques, knowledge about the Hermite cubic collocation approximations to the spectrum of the Laplace operator is often very useful, for error analysis and, *a fortiori*, possible iteration parameters. To this end, we give here explicit closed-form expressions for the Hermite cubic approximations to both the eigenvalues and the eigenfunctions of the Laplace operator for both the Dirichlet and the Neumann problems. Moreover, for the Dirichlet case, we show that optimal approximations are obtained using the Gauss points for collocation points. For both cases, we give numerical examples that verify our theoretical results.

Key words. eigenvalues and eigenfunctions, elliptic boundary value problems, Hermite cubic collocation, generalized eigenvalue problem, Laplace operator.

AMS(MOS) subject classifications. 65F15, 65L60, 65M27, 65N22, 65N25, 65N30, 65N35.

1. Introduction. Piecewise Hermite cubics have proven to be very useful for a variety of numerical applications. Dyksen, *et al*, have demonstrated that Hermite cubics are particularly effective for approximating solutions to partial differential equations [11].

As is typical, the discrete problem arising from Hermite cubic collocation results in a large, sparse linear system whose unknowns represent the coefficients of the Hermite cubic basis functions. Dyksen and Rice have shown that, with the proper ordering and proper scaling, the Hermite collocation equations are numerically stable and can be accurately solved using conventional direct methods [9, 10].

<sup>&</sup>lt;sup>†</sup>Department of Computer Sciences, Purdue University, West Lafayette, Indiana 47907

However, even though Hermite cubics produce relatively accurate solutions to partial differential equations, the size of the problems that are solvable using direct methods is rather limited. Starting in 1984, a variety of iterative techniques for the Hermite collocation equations arising from large classes of separable elliptic problems have been introduced by a number of people including those by Dyksen [12, 13, 14], Cooper and Prenter [4], Bialecki, *et al* [2], Sun [16, 17], and Russell and Sun [15].

As one would expect for these methods, knowledge of the spectrum of the Hermite cubic approximation to the spectrum of the Laplace operator is very useful for error analysis and, *a fortiori*, for iteration parameters. In fact, if one knows the complete set of eigenvalues, iteration parameters can often be chosen that make the iterative technique exact in a finite number of iterations; that is, the iterative method becomes a direct method in theory. To that end, we give here explicit closed-form expressions for the Hermite cubic approximations to both the eigenvalues and the eigenfunctions of the Laplace operator for both the Dirichlet and the Neumann problems.

We briefly review Hermite cubic collocation and we introduce our notation in Section 2. In Section 3, we derive the formulas for the eigenvalues and eigenfunctions for the Dirichlet problem. Moreoever, we show that an optimal approximation is obtained using the Gauss points for collocation points. We give three numerical examples that verify our theoretical work. The complete Neumann problem is considered in a similar manner in Section 4. We conclude with Section 5.

2. Hermite Cubic Collocation. For a fixed positive integer N, we divide up the unit interval into N equal subintervals, each of length h = 1/N. To each of the N + 1 grid points  $x_k = kh$  there are associated two Hermite cubic polynomials defined by

(2.1a) 
$$\Phi_{k}(x) = \begin{cases} 0 & x \leq x_{k-1}, x_{k+1} \leq x_{k-1} \\ -2\left[\frac{x - x_{k-1}}{x_{k} - x_{k-1}}\right]^{3} + 3\left[\frac{x - x_{k-1}}{x_{k} - x_{k-1}}\right]^{2} & x_{k-1} \leq x \leq x_{k} \\ -2\left[\frac{x_{k+1} - x}{x_{k+1} - x_{k}}\right]^{3} + 3\left[\frac{x_{k+1} - x}{x_{k+1} - x_{k}}\right]^{2} & x_{k} \leq x \leq x_{k+1} \end{cases}$$

ſ

(2.1b) 
$$\Psi_{k}(x) = \begin{cases} 0 & x \leq x_{k-1}, x_{k+1} \leq x \\ \left[\frac{x - x_{k-1}}{x_{k} - x_{k-1}}\right]^{2} (x - x_{k}) & x_{k-1} \leq x \leq x_{k} \\ \left[\frac{x_{k+1} - x}{x_{k+1} - x_{k}}\right]^{2} (x - x_{k}) & x_{k} \leq x \leq x_{k+1}. \end{cases}$$

The grid points  $x_k$  are often called the "knots" of the piecewise polynomial since they are the points where it is "tied together".

The Hermite cubic basis functions are particularly effective for interpolating Dirichlet or Neumann boundary conditions since they are the dual basis with respect to function and derivative evaluation at the grid points  $x_k$ . To see this, note that

$$\Phi_k(x_{k-1}) = \Phi_k(x_{k+1}) = 0, \quad \Phi_k(x_k) = 1, \quad \Phi'_k(x_{k-1}) = \Phi'_k(x_k) = \Phi'_k(x_{k+1}) = 0,$$
  
$$\Psi_k(x_{k-1}) = \Psi_k(x_k) = \Psi_k(x_{k+1}) = 0, \quad \Psi'_k(x_{k-1}) = \Psi'_k(x_{k+1}) = 0, \quad \Psi'_k(x_k) = 1.$$

Hence, an arbitrary cubic polynomial p defined on [0,1] may be written as

$$p(x) = \sum_{k=0}^{N} p(x_k) \Phi_k(x) + p'(x_k) \Psi_k(x).$$

Graphs of  $\Phi_1$  and  $\Psi_1$  are given below in Figure 2.1 for the case N = 2. For a complete treatment of Hermite cubics, see [5].



Figure 2.1 The Hermite cubic polynomials  $\Phi_1(x)$  and  $\Psi_1(x)$  for the case N = 2.

4

3. The Dirichlet Problem. Consider the classical Dirichlet eigenvalue problem

(3.1) 
$$u''(x) = \lambda u(x), x \in (0,1) u(0) = u(1) = 0.$$

We divide the unit interval into N equal subintervals of length h = 1/N. We approximate an eigenfunction u of (3.1) by

$$U(x) = \sum_{i=1}^{2N} c_i \phi_i(x)$$

for some constants  $c_i$ , where the  $\phi_i$  are the 2N Hermite cubics

(3.2) 
$$\{\phi_i\}_{i=1}^{2N} = \{\Psi_0, \phi_1, \Psi_1, \dots, \phi_{N-1}, \Psi_{N-1}, \Psi_N\}.$$

Note that since we have discarded  $\Phi_0$  and  $\Phi_N$ , it follows that  $\phi_i(0) = \phi_i(1) = 0$  and hence U(0) = U(1) = 0. Also, note that the  $\Phi_k$  and  $\Psi_k$  are ordered in a natural way from left to right, corresponding to their support.

Now, in order to determine the 2N unknowns  $c_i$ , we choose 2N distinct points  $\{\tau_i\}_{i=1}^{2N}$  in (0,1), and collocate the equations in (3.1) at these points. In particular, for a fixed parameter  $0 < \theta < \frac{1}{2}$ , we place in each subinterval  $(x_k, x_{k+1})$  two collocation points,

(3.3) 
$$\begin{aligned} \tau_{2k+1} &= \frac{1}{2}(x_k + x_{k+1}) - \theta h, \\ \tau_{2k+2} &= \frac{1}{2}(x_k + x_{k+1}) + \theta h. \end{aligned}$$

Substituting U into (3.1) and collocating at the  $\tau_l$ , we obtain the generalized eigenvalue problem

$$(3.4) A c = \lambda B c,$$

where

$$A_{lj} = \phi_j''(\tau_l), \quad B_{lj} = \phi_j(\tau_l), \quad j = 1,..., 2N.$$

The generalized eigenvalues and eigenvectors of (3.4) give the Hermite cubic collocation approximations to the eigenvalues and eigenvectors of (3.1). Since the support of each Hermite cubic function  $\phi_i$  spans at most two subintervals, it follows that A and B are band matrices with bandwidth two.

Next, we give below in the following theorem explicit closed-form expressions for the generalized eigenvalues of (3.4). We note here that the results of Theorem 3.1 along with a proof were first given in [13]. We give a new proof here for two reasons. First, the original proof in [13] was incomplete and contained some errors. Second, the derivation of the eigenvectors given below in Theorem 3.3 (and not given in [13]) requires in detail both the notation and the machinery developed in the proof of Theorem 3.1.

**THEOREM 3.1.** The 2N generalized eigenvalues of the discrete Dirichlet problem  $Ac = \lambda Bc$  in (3.4) are given by

(3.5a) 
$$\lambda_0 = \frac{6}{h^2(\theta^2 - 1/4)}$$

(3.5b) 
$$\lambda_N = \frac{2}{h^2(\theta^2 - 1/4)}$$

(3.5c) 
$$\lambda_l^{\pm} = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}, \ l = 1, ..., N - 1$$

where

(3.6a) 
$$a = h^4 \left[ (16\theta^4 - 16\theta^2 + 3)d - 8\theta^2 + 2 \right],$$

(3.6b) 
$$b = h^2 \Big[ (-128\theta^2 + 48)d + 48 \Big],$$

(3.6c) 
$$c = 192d$$
,

and where

$$(3.6d) d = \tan^2 \left( \frac{l\pi}{2N} \right)$$

*Proof.* Let P be the Hermite cubic collocation approximation of the eigenfunction of (3.1) corresponding to the approximate eigenvalue  $\lambda$ . Since h = 1/N, P consists of N pieces, each of which has support in  $(x_k, x_{k+1})$ . For simplicity, we assume that each polynomial piece is centered at the midpoint of its corresponding interval which gives

$$p_k(x) = \alpha_k + \beta_k(x - \overline{x}_k) + \gamma_k \frac{(x - \overline{x}_k)^2}{2} + \delta_k \frac{(x - \overline{x}_k)^3}{6}, \quad x_k \le x \le x_{k+1}, \ k = 0, \dots, N-1,$$

where  $\overline{x}_k = \frac{1}{2}(x_k + x_{k+1})$ . To simplify even further, we write this as

(3.7) 
$$p_k(y) = \alpha_k + \beta_k y + \gamma_k \frac{y^2}{2} + \delta_k \frac{y^3}{6}, \quad -\frac{h}{2} \le y \le \frac{h}{2}, \quad k = 0, \dots, N-1$$

First, we relate the  $\alpha_k$ 's to the  $\gamma_k$ 's and the  $\beta_k$ 's to the  $\delta_k$ 's by using the eigenvalue problem. Since *P* satisfies  $P'' = \lambda P$  at the collocation points, we have  $p_k''(\pm \theta h) = \lambda p_k(\pm \theta h)$ , or equivalently,

(3.8) 
$$\gamma_k \pm \delta_k \theta h = \lambda \left[ \alpha_k \pm \beta_k \theta h + \gamma_k \frac{\theta^2 h^2}{2} \pm \delta_k \frac{\theta^3 h^3}{6} \right].$$

Adding and subtracting the equations in (3.8), we obtain, respectively,

(3.9)  
$$\gamma_{k} = \lambda \left[ \alpha_{k} + \gamma_{k} \frac{\theta^{2} h^{2}}{2} \right],$$
$$\delta_{k} = \lambda \left[ \beta_{k} + \delta_{k} \frac{\theta^{2} h^{2}}{6} \right].$$

If  $\lambda = 0$ , then it follows from (3.9) that  $\gamma_k = \delta_k = 0$ , so that (3.7) reduces to  $p_k(y) = \alpha_k + \beta_k y$ . Now, since each piece  $p_k$  is linear and since P is continuous, we must have  $P(x) = \alpha + \beta x$ . Moreover, since P(0) = P(1) = 0, it follows that  $P \equiv 0$ , which is not an eigenfunction of (3.1). Thus,  $\lambda = 0$  is not an eigenvalue of (3.4).

Now, for the case  $\lambda \neq 0$ , (3.9) gives

$$\alpha_{k} = \left(\frac{1}{\lambda} - \frac{\theta^{2}h^{2}}{2}\right) \gamma_{k},$$
$$\beta_{k} = \left(\frac{1}{\lambda} - \frac{\theta^{2}h^{2}}{6}\right) \delta_{k},$$

so that (3.7) simplifies to

(3.10) 
$$p_k(\lambda; y) = \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{y^2}{2}\right) \gamma_k + y \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{6}\right) \delta_k,$$

from which it follows that

(3.11) 
$$p_k'(\lambda; y) = y \gamma_k + \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{2}\right) \delta_k.$$

Next, we relate the  $\gamma_k$ 's to the  $\delta_k$ 's by using the continuity of P and P'. Since P is continuous, we have  $p_k(\lambda; +h/2) = p_{k+1}(\lambda; -h/2)$ . From (3.10), it follows that

$$r\gamma_k + s\,\delta_k = r\,\gamma_{k+1} - s\,\delta_{k+1},$$

where

$$r = \left[\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{h^2}{8}\right],$$
  
$$s = \frac{h}{2}\left[\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{24}\right].$$

We obtain

$$r(-\gamma_k + \gamma_{k+1}) = s(\delta_k + \delta_{k+1}).$$

Furthermore, since P' is continuous, we have  $p'_k(\lambda; +h/2) = p'_{k+1}(\lambda; -h/2)$ . From (3.11), it follows that

$$\gamma_k + \iota \, \delta_k = -\gamma_{k+1} + \iota \, \delta_{k+1},$$

where

$$t = \frac{2}{h} \left[ \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right].$$

We obtain

(3.13) 
$$\gamma_k + \gamma_{k+1} = t \left(-\delta_k + \delta_{k+1}\right).$$

Now, using (3.12) and (3.13), we show that the  $\gamma_k$ 's and  $\delta_k$ 's both satisfy the same difference equa-

tion. We consider (3.12) and the equation obtained from it by replacing k by k-1. We obtain

(3.14) 
$$r(-\gamma_{k}+\gamma_{k+1})=s(\delta_{k}+\delta_{k+1})$$
$$r(-\gamma_{k-1}+\gamma_{k})=s(\delta_{k-1}+\delta_{k}),$$

which, if substracted, yield

(3.15) 
$$r(\gamma_{k+1} - 2\gamma_k + \gamma_{k+1}) = s(-\delta_{k-1} + \delta_{k+1})$$

Similarly, from (3.13) we obtain

(3.16) 
$$\begin{aligned} \gamma_k + \gamma_{k+1} &= t \left( -\delta_k + \delta_{k+1} \right) \\ \gamma_{k-1} + \gamma_k &= t \left( -\delta_{k-1} + \delta_k \right), \end{aligned}$$

which, if added, yield

(3.17) 
$$\gamma_{k-1} + 2\gamma_k + \gamma_{k+1} = t(-\delta_{k-1} + \delta_{k+1}).$$

Substituting (3.17) into (3.15) gives

(3.18) 
$$rt(\gamma_{k-1} - 2\gamma_k + \gamma_{k+1}) = s(\gamma_{k-1} + 2\gamma_k + \gamma_{k+1}).$$

If we add the equations in (3.14) and subtract the equations in (3.16), we obtain, respectively,

$$r(-\gamma_{k-1} + \gamma_{k+1}) = s(\delta_{k-1} + 2\delta_k + \delta_{k+1}) -\gamma_{k-1} + \gamma_{k+1} = t(\delta_{k-1} - 2\delta_k + \delta_{k+1}),$$

8

which gives

(3.19) 
$$rt(\delta_{k-1} - 2\delta_k + \delta_{k+1}) = s(\delta_{k-1} + 2\delta_k + \delta_{k+1}).$$

Now, since the  $\gamma_k$ 's and  $\delta_k$ 's satisfy the difference equations in (3.19) and (3.18), respectively, we may in the usual way set

(3.20)  
$$\gamma_k = \hat{A}_\lambda \zeta^k + \hat{C}_\lambda \zeta^{-k}$$
$$\delta_k = \hat{B}_\lambda \zeta^k + \hat{D}_\lambda \zeta^{-k}$$

for arbitrary constants  $\hat{A}_{\lambda}$ ,  $\hat{B}_{\lambda}$ ,  $\hat{C}_{\lambda}$ , and  $\hat{D}_{\lambda}$  that depend on  $\lambda$ .

To find appropriate values for  $\zeta$ , we again impose the boundary conditions P(0)=P(1)=0. Since P(0)=0, we may extend P on  $0 \le x \le 1$  to  $-1 \le x \le 0$  as an odd function by P(x)=-P(-x) for  $-1 \le x \le 0$ . Since both P and P' are continuous on  $0 \le x \le 1$ , it follows that P and P' are continuous on  $-1 \le x \le 1$ . Similarly, we can extend P to  $1 \le x \le 2$  by P(x)=-P(2-x) for  $1 \le x \le 2$ . In particular, we now have the pieces

 $p_{-1}(y) = -p_0(-y)$  and  $p_N(y) = -p_{N-1}(-y)$ .

Now, since P(0)=0, it follows from (3.10) and (3.20) that

$$p_0(\lambda;-h/2) = r(\hat{A}_{\lambda} + \hat{C}_{\lambda}) - s(\hat{B}_{\lambda} + \hat{D}_{\lambda}) = 0,$$

which, provided  $(r\hat{A}_{\lambda} - s\hat{B}_{\lambda}) \neq 0$ , gives

(3.21) 
$$-\frac{(r\hat{C}_{\lambda}-s\hat{D}_{\lambda})}{(r\hat{A}_{\lambda}-s\hat{B}_{\lambda})}=1.$$

Similarly, since P(1)=0, we have

$$(3.22) p_{N-1}(\lambda;+h/2) = -p_N(\lambda;-h/2) = -r \left( \hat{A}_{\lambda} \zeta^N + \hat{C}_{\lambda} \zeta^{-N} \right) + s \left( \hat{B}_{\lambda} \zeta^N + \hat{D}_{\lambda} \zeta^{-N} \right) = 0.$$

Solving for  $\zeta$  and applying (3.21), we obtain

$$\zeta^{2N} = -\frac{(r\hat{C}_{\lambda} - s\hat{D}_{\lambda})}{(r\hat{A}_{\lambda} - s\hat{B}_{\lambda})} = 1 = e^{2\pi i t}$$

from which it follows that

$$(3.23) \qquad \qquad \zeta = e^{\frac{\pi i}{N}}$$

for any integer l; we take l = 0, ..., N.

To simplify subsequent derivations, we modify the arbitrary contants in (3.20) by taking

$$\begin{split} \gamma_k &= \bar{A}_{\lambda} e^{\frac{|\pi i|}{2N}} \zeta^k + \tilde{C}_{\lambda} e^{-\frac{|\pi i|}{2N}} \zeta^{-k} \\ &= \bar{A}_{\lambda} e^{\frac{(k+l_{\lambda})!\pi}{N}} + \bar{C}_{\lambda} e^{-\frac{(k+l_{\lambda})!\pi}{N}} \\ &= (\bar{A}_{\lambda} + \bar{C}_{\lambda}) \mathrm{cos} \left\{ \frac{(k+l_{\lambda})!\pi}{N} \right\} + i (\bar{A}_{\lambda} - \bar{C}_{\lambda}) \mathrm{sin} \left[ \frac{(k+l_{\lambda})!\pi}{N} \right], \end{split}$$

which we write as

(3.24a) 
$$\gamma_k = A_\lambda \sin\left(\frac{(k+1/2)l\pi}{N}\right) + C_\lambda \cos\left(\frac{(k+1/2)l\pi}{N}\right).$$

10

A similar modification with  $\delta_k$  gives

(3.24b) 
$$\delta_k = B_\lambda \sin\left[\frac{(k+1/2)l\pi}{N}\right] + D_\lambda \cos\left[\frac{(k+1/2)l\pi}{N}\right].$$

Substituting (3.24a) and (3.24b) into (3.18) and (3.19), respectively, and simplifying, we obtain

(3.25)  
$$rt\left[-4\sin^{2}\left(\frac{l\pi}{2N}\right)\gamma_{k}\right] = s\left[4\cos^{2}\left(\frac{l\pi}{2N}\right)\gamma_{k}\right]$$
$$rt\left[-4\sin^{2}\left(\frac{l\pi}{2N}\right)\delta_{k}\right] = s\left[4\cos^{2}\left(\frac{l\pi}{2N}\right)\delta_{k}\right].$$

Since r, s, and t depend on  $\lambda$ , and since we cannot have  $\gamma_k = \delta_k = 0$ , it follows from (3.25) that the eigenvalues of (3.4) satisfy

(3.26) 
$$rt\sin^2\left(\frac{l\pi}{2N}\right) + s\cos^2\left(\frac{l\pi}{2N}\right) = 0.$$

We can now obtain the formulas given in (3.5) by considering (3.26) for various values of l. If l = 0, then (3.26) reduces to

(3.27) 
$$s = \frac{h}{2} \left( \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{24} \right) = 0,$$

so that

$$\lambda_0 = \frac{6}{h^2(\theta^2 - \frac{1}{4})}$$

is a potential eigenvalue of (3.4). Note that (3.28) may also be written as

$$6(\pm\theta h) = \lambda(\pm\theta h)(\theta^2 h^2 - h^2/4),$$

which shows that the approximate eigenfunction associated with  $\lambda = \lambda_0$  is, up to a multiplicative constant, given by  $p_k(\lambda_0; y) = y(y^2 - h^2/4)$ . Since  $p_k(\lambda_0; y)$  satisfies the boundary conditions  $p_0(\lambda_0; -h/2) = 0$  and  $p_{N-1}(\lambda_0; +h/2) = 0$ , it follows that  $\lambda_0$  is indeed an eigenvalue of (3.4), which gives the desired result in (3.5a). Note that for  $\lambda = \lambda_0$ , P is a piecewise approximation to the eigenfunction  $\sin(2N\pi x)$  of (3.1). 11

If l = N, then (3.26) implies rt = 0 so that either

(3.29) 
$$r = \frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{h^2}{8} = 0$$

ог

(3.30) 
$$t = \frac{2}{h} \left( \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right) = 0.$$

From (3.29) it follows that

(3.31) 
$$\lambda_{N} = \frac{2}{h^{2}(\theta^{2} - t/4)}$$

is a potential eigenvalue of (3.4). The approximate eigenfunction corresponding to  $\lambda_N$  is, up to a multiplicative constant, given by  $p_k(\lambda_N; y) = (y^2 - h^2/4)$ . Since  $p_k(\lambda_N; y)$  satisfies the boundary conditions  $p_0(\lambda_N; -h/2) = 0$  and  $p_{N-1}(\lambda_N; +h/2) = 0$ , it follows that  $\lambda_N$  is indeed an eigenvalue of (3.4), which gives the desired result in (3.5b). Note that for  $\lambda = \lambda_N$ , P is a piecewise approximation to the eigenfunction  $\sin(N\pi x)$  of (3.1).

From (3.30) it follows that

(3.32) 
$$\bar{\lambda}_N = \frac{6}{h^2(\theta^2 - 3/4)}$$

is a potential eigenvalue of (3.4) with corresponding approximate eigenfunction  $p_k(\bar{\lambda}_N; y) = y(y^2 - 3h^2/4)$ . However, since  $p_k(\bar{\lambda}_N; \pm h/2) \neq 0$ ,  $\bar{\lambda}_N$  is not an eigenvalue of (3.4).

Finally, for l = 1, ..., N-1, we have from (3.26) that

(3.33) 
$$\lambda^2 r t \tan^2 \left( \frac{l\pi}{2N} \right) + \lambda^2 s = 0,$$

which is a quadratic equation in  $\lambda$ . If simplified, (3.33) may be written as

where a, b, c and d are given in (3.6). Thus, for each of I = 1,...,N-1, (3.34) represents two eigenvalues of (3.4), which gives the desired results in (3.5c).

**EXAMPLE 3.1.** The Generalized Eigenvalues of the Discrete Dirichlet Problem  $A c = \lambda B c$ .

In order to verify the results of Theorem 3.1, we compute the generalized eigenvalues of  $A c = \lambda B c$ in (3.4) using the LAPACK routine SGEGV [1]. We then compare these computed results with those obtained by using the formulas of Theorem 3.1 given in (3.5).

Recall that in the continuous case, the eigenvalues are of the form  $-k^2\pi$ , k = 1, 2, ... Thus, if divided by  $-\pi^2$ , we expect the generalized eigenvalues of (3.4) to approximate k, k = 1, 2, ... Now, for the case N = 4 and  $\theta = \frac{1}{2\sqrt{3}}$ , we obtain the results given below in Table 3.1. We see from Table 3.1 that the formulas of Theorem 3.1 agree up to round-off with the computed results from LAPACK.

Table 3.1

Eigenvalues of the discrete Dirichlet problem  $A c = \lambda B c$  divided by  $-\pi^2$  for the case N = 4 and  $\theta = 1/(2\sqrt{3})$ .

λ	Theorem 3.1	LAPACK
$\lambda_{l}^{+}$ $\lambda_{2}^{+}$ $\lambda_{3}^{-}$ $\lambda_{1}^{-}$ $\lambda_{1}^{-}$ $\lambda_{0}^{-}$	1.00017c+00 4.00902e+00 9.06012e+00 1.94537e+01 2.77562e+01 4.04565e+01 5.28336e+01 5.83610e+01	1.00017e+00 4.00902e+00 9.06012e+00 1.94537e+01 2.77562e+01 4.04565e+01 5.28337e+01 5.83610e+01

By varying the free parameter  $0 < \theta < \frac{1}{2}$  in Theorem 3.1, we can vary the location of the 2N collocation points  $\tau_i$ , thereby affecting the accuracy of the approximations to the eigenvalues of (3.1). As expected, we see in the following corollary that optimal approximations are obtained using the Gauss points [6, 7, 8]. **COROLLARY 3.2.** If  $0 < \theta < \frac{1}{2}$ , then  $\lambda_1^+$  is at least an  $O(h^2)$  approximation to the eigenvalue of

smallest magnitude of (3.1),  $-\pi^2$ . If  $\theta = \frac{1}{2\sqrt{3}}$ , then  $\lambda_1^+ = -\pi^2 + O(h^4)$ .

Proof. From Theorem 3.1 we have

$$\lambda_1^+ = \frac{-b + \sqrt{b^2 - 4ac}}{2a} ,$$

where a, b and c and given in (3.6) and where  $d = \tan^2(h\pi/2)$ . Expanding the right side of (3.35) in a Taylor series with respect to h using Mathematica [18], we obtain

(3.36) 
$$\lambda_1^+ = -\pi^2 - \frac{1}{24} (12\theta^2 - 1)\pi^4 h^2 - \frac{1}{2880} (720\theta^4 - 200\theta^2 + 13)\pi^6 h^4 + O(h^6)$$

so that  $\lambda_{l}^{+} = -\pi^{2} + O(h^{2})$ .

Setting  $12\theta^2 - 1 = 0$ , we obtain  $\theta = \frac{\pm 1}{2\sqrt{3}}$  which are the Gauss points in (0,1). Substituting  $\theta = \frac{1}{2\sqrt{3}}$ 

into (3.36), we obtain the desired result,

$$\lambda_1^+ = -\pi^2 - \frac{\pi^6 h^4}{2160} + O(h^6),$$

which is approximately

(3.37) 
$$\lambda_1^+ = -\pi^2 - 0.445h^4 + O(h^6),$$

so that

$$\lambda_{\rm I}^+ = -\pi^2 + O(h^4).$$

**EXAMPLE 3.2.** Convergence of  $\lambda_1^+$  to  $-\pi^2$ .

To numerically verify the results of Corollary 3.2, we compute  $\lambda_1^+$  in double precision using (3.35) with  $\theta = \frac{1}{2\sqrt{3}}$  for N = 4, 8, 16, ..., 128. Note that  $-\pi^2 = -9.86960440109$ . We obtain the following results:

14
Table 3.2
Convergence of $\lambda_l^+$ .

N = I/h	$\lambda_i^+$	
4	-9.8712579554	1.6536E-03
8	-9.8697117358	1.0733E-04
16	-9.8696111718	6.7707E-06
32	-9.8696048252	4.2414E-07
64	-9.8696044276	2.6524E-08
128	-9.8696044027	1.6580E-09

A logarithmic least squares fit of these data shows that  $|\lambda_l^+ + \pi^2| = 0.424h^{3.99}$ , which agrees with the theoretical result in (3.37).

As a companion to Theorem 3.1, we give below explicit, closed-form expressions for the generalized eigenvectors of (3.4).

**THEOREM 3.3.** The  $k^{th}$  piece of the Hermite cubic approximate eigenfunction of the Dirichlet problem (3.1) associated with the approximate eigenvalues  $\lambda_0$ ,  $\lambda_N$ ,  $\lambda_l^{\pm}$  of Theorem 3.1 is given by

(3.38a) 
$$p_k(\lambda_0; x) = D_{\lambda_0}(x - \overline{x}_k) \left[ (x - \overline{x}_k)^2 - h^2/4 \right],$$

(3.38b) 
$$p_k(\lambda_N; x) = \Lambda_{\lambda_N} \left[ (x - \overline{x_k})^2 - h^2/4 \right] (-1)^k$$
, and

(3.38c) 
$$p_{k}(\lambda_{l}^{\pm};x) = A_{\lambda_{l}^{\pm}} \left[ \frac{1}{\lambda_{l}^{\pm}} - \frac{\theta^{2}h^{2}}{2} + \frac{(x - \overline{x}_{k})^{2}}{2} \right] \sin\left[ \frac{(k + \frac{1}{2})l\pi}{N} \right] + D_{\lambda_{l}^{\pm}}(x - \overline{x}_{k}) \left[ \frac{1}{\lambda_{l}^{\pm}} - \frac{\theta^{2}h^{2}}{6} + \frac{(x - \overline{x}_{k})^{2}}{6} \right] \cos\left[ \frac{(k + \frac{1}{2})l\pi}{N} \right],$$
for  $l = 1, \dots, N-1$ ,

where  $\overline{x}_k = \frac{1}{2}(x_k + x_{k+1})$ ,  $D_{\lambda_0}$ ,  $A_{\lambda_n}$ ,  $D_{\lambda_1^{\pm}}$  are arbitrary nonzero constants, and where

$$A_{\lambda_l^{\pm}} = -\frac{2}{h} \left[ \frac{1}{\lambda_l^{\pm}} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right] \tan\left(\frac{l\pi}{2N}\right) D_{\lambda_l^{\pm}}.$$

Proof.

Recall from (3.10) and (3.24) that we have

(3.39) 
$$p_k(\lambda; y) = \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{y^2}{2}\right) \gamma_k + y \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{6}\right) \delta_k,$$

where

(3.40)  

$$\gamma_{k} = A_{\lambda} \sin\left[\frac{(k+1/2)l\pi}{N}\right] + C_{\lambda} \cos\left[\frac{(k+1/2)l\pi}{N}\right]$$

$$\delta_{k} = B_{\lambda} \sin\left[\frac{(k+1/2)l\pi}{N}\right] + D_{\lambda} \cos\left[\frac{(k+1/2)l\pi}{N}\right].$$

Consider first the special case l = 0 ( $\lambda = \lambda_0$ ). From (3.28), we have  $\frac{1}{\lambda_0} = \frac{\theta^2 h^2}{6} - \frac{h^2}{24}$ . If we substi-

tute l = 0 into (3.40), then (3.39) reduces to

$$p_k(\lambda_0; y) = \left(\frac{y^2}{2} - \frac{h^2}{24} - \frac{\theta^2 h^2}{3}\right) C_{\lambda_0} + \frac{1}{6} y \left(y^2 - \frac{h^2}{4}\right) D_{\lambda_0}.$$

Enforcing the boundary condition P(0)=0, we obtain

(3.41) 
$$p_0(\lambda_0; -h/2) = \frac{h^2}{12}(1-4\theta^2)C_{\lambda_0} = 0,$$

which implies that  $C_{\lambda_0} = 0$ , so that

(3.42) 
$$p_k(\lambda_0; y) = \frac{1}{6} y \left( y^2 - \frac{h^2}{4} \right) D_{\lambda_0}.$$

Note that  $p_{N-1}(\lambda_0; +h/2) = 0$  so that P(1) = 0. The desired result in (3.38a) follows from (3.42) by incorporating the factor 1/6 into the arbitrary constant  $D_{\lambda_0}$ , and by replacing y by  $(x - \bar{x}_k)$ .

Second, consider the special case l = N ( $\lambda = \lambda_N$ ). From (3.31) we have  $\frac{1}{\lambda_N} = \frac{\theta^2 h^2}{2} - \frac{h^2}{8}$ . Substi-

tuting l = N into (3.40), we obtain  $\sin((k+1/2)\pi) = (-1)^k$  and  $\cos((k+1/2)\pi) = 0$ , so that (3.39) reduces to

(3.43) 
$$p_k(\lambda_N; y) = \frac{1}{2} \left\{ y^2 - \frac{h^2}{4} \right\} (-1)^k A_{\lambda_N} + y \left\{ \frac{y^2}{6} - \frac{h^2}{8} + \frac{\theta^2 h^2}{3} \right\} (-1)^k B_{\lambda_N}.$$

16

Enforcing the boundary condition P(0)=0 gives

$$p_0(\lambda_N; -h/2) = \frac{h^3}{24} \left( 1 - 4\theta^2 \right) (-1)^k B_{\lambda_k} = 0,$$

which implies  $B_{\lambda_s} = 0$  so that

(3.44) 
$$p_k(\lambda_N; y) = \frac{1}{2} \left( y^2 - \frac{h^2}{4} \right) (-1)^k A_{\lambda_N}.$$

Note that  $p_{N-1}(\lambda_N; +h/2) \approx 0$  so that P(1)=0. The desired result in (3.38b) follows from (3.44) by incorporating the factor 1/2 into the arbitrary constant  $A_{\lambda_p}$ , and by replacing y by  $(x - \bar{x}_k)$ .

Finally, we consider the remaining cases l=1,...,N-1. First we show that  $B_{\lambda}=C_{\lambda}=0$  for all corresponding eigenvalues  $\lambda$ .

For k = 0, it follows from (3.39) and (3.40) that

$$(3.45) p_0(\lambda; -h/2) = r \left[ A_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + C_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right] - s \left[ B_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + D_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right]$$

where

$$r = \frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{h^2}{8}$$
$$s = \frac{h}{2} \left[ \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{24} \right].$$

Moreover, substituting l = N-1 into (3.40), we obtain

$$\cos\left(\frac{(N-1/2)l\pi}{N}\right) = (-1)^{l} \cos\left(\frac{l\pi}{2N}\right) \quad \text{and} \quad \sin\left(\frac{(N-1/2)l\pi}{N}\right) = -(-1)^{l} \sin\left(\frac{l\pi}{2N}\right),$$

so that

$$(3.46) \quad p_{N-1}(\lambda;+h/2) = (-1)^{l} \left\{ r \left[ -A_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + C_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right] + s \left[ -B_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + D_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right] \right\}.$$

From the boundary conditions  $p_0(\lambda; -h/2)=0$  and  $p_{N-1}(\lambda; +h/2)=0$ , we have from (3.45) and (3.46), respectively,

$$r\left[A_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + C_{\lambda}\cos\left(\frac{l\pi}{2N}\right)\right] - s\left[B_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + D_{\lambda}\cos\left(\frac{l\pi}{2N}\right)\right] = 0$$
$$r\left[-A_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + C_{\lambda}\cos\left(\frac{l\pi}{2N}\right)\right] + s\left[-B_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + D_{\lambda}\cos\left(\frac{l\pi}{2N}\right)\right] = 0.$$

Adding and simplifying, we obtain

(3.47) 
$$rC_{\lambda} = sB_{\lambda} \tan\left(\frac{l\pi}{2N}\right).$$

Now, from (3.39) it follows that

$$p_k'(\lambda; y) = y \gamma_k + \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{2}\right) \delta_k,$$

from which we obtain

$$(3.48) \qquad p_0'(\lambda; -h/2) = \frac{h}{2} \left\{ -\left[A_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + C_{\lambda} \cos\left(\frac{l\pi}{2N}\right)\right] + t \left[B_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + D_{\lambda} \cos\left(\frac{l\pi}{2N}\right)\right] \right\}$$

and

$$(3.49) \quad p'_{-1}(\lambda; +h/2) = \frac{h}{2} \left\{ \left[ -A_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + C_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right] + \left[ -B_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + D_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right] \right\}$$

where

$$t=\frac{2}{h}\left(\frac{1}{\lambda}-\frac{\theta^2h^2}{6}+\frac{h^2}{8}\right).$$

Now, since P' is continuous, we must have  $p'_{-1}(\lambda; +h/2) = p'_0(\lambda; -h/2)$ . Equating (3.48) and (3.49) and simplifying, we obtain

$$(3.50) -C_{\lambda} + tB_{\lambda} tan\left(\frac{t\pi}{2N}\right) = 0.$$

Combining (3.47) and (3.50), we obtain

$$-sB_{\lambda}\tan\left(\frac{l\pi}{2N}\right) + rtB_{\lambda}\tan\left(\frac{l\pi}{2N}\right) = 0,$$

or, since 
$$\tan\left(\frac{l\pi}{2N}\right) \neq 0$$
,  
(3.51)  $B_{\lambda}(rt-s)=0.$ 

Now, in order to show that  $B_{\lambda}=0$ , suppose that  $B_{\lambda}\neq 0$ . From the above, we have rt=s so that the difference equations in (3.18) and (3.19) reduce, respectively, to

and

$$\delta_{k-1} - 2\delta_k + \delta_{k+1} = \delta_{k-1} + 2\delta_k + \delta_{k+1},$$

 $\gamma_{k-1} - 2\gamma_k + \gamma_{k+1} = \gamma_{k-1} + 2\gamma_k + \gamma_{k+1},$ 

However, this yields  $\gamma_k = \delta_k = 0$ , which results in  $p_k \equiv 0$ , or  $P \equiv 0$ . Thus, we must have  $B_{\lambda} \approx 0$ . Furthermore, (3.50) shows that  $C_{\lambda} = 0$  as well. Thus, we must have  $B_{\lambda} = C_{\lambda} = 0$  for all remaining cigenvalues  $\lambda$ .

Now, with  $B_{\lambda} = C_{\lambda} = 0$ , the expression for  $p_k$  in (3.39) reduces to

$$(3.52) \quad p_k(\lambda; y) = \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} \div \frac{y^2}{2}\right) A_\lambda \sin\left(\frac{(k+1/2)l\pi}{N}\right) + y\left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} \div \frac{y^2}{6}\right) D_\lambda \cos\left(\frac{(k+1/2)l\pi}{N}\right)$$

where  $A_{\lambda}$  and  $D_{\lambda}$  are arbitrary constants.

We next chose  $A_{\lambda}$  and  $B_{\lambda}$  so that P satisfies the boundary conditions P(0)=P(1)=0. To this end, we set

(3.53) 
$$p_0(\lambda; -h/2) = rA_\lambda \sin\left(\frac{l\pi}{2N}\right) - sD_\lambda \cos\left(\frac{l\pi}{2N}\right) = 0,$$

from which it follows that we must have

$$(3.54) A_{\lambda} = \frac{s}{r} \cot\left(\frac{l\pi}{2N}\right) D_{\lambda}.$$

From (3.26), we have

$$rt\sin^2\left(\frac{l\pi}{2N}\right) + s\cos^2\left(\frac{l\pi}{2N}\right) = 0,$$

which gives

(3.55) 
$$\frac{19}{r} \cot\left(\frac{l\pi}{2N}\right) = -t \tan\left(\frac{l\pi}{2N}\right).$$

Substituting (3.55) into (3.54), we have

(3.56) 
$$A_{\lambda} = -\frac{2}{h} \left[ \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right] \tan\left[ \frac{l\pi}{2N} \right].$$

Now, since

$$p_{N-1}(\lambda;+h/2) = -(-1)^{l} \left[ rA_{\lambda} \sin\left(\frac{l\pi}{2N}\right) - sD_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right],$$

it follows from (3.56) (equivalently (3.53)) that  $p_{N-1}(\lambda; +h/2)=0$  as well. Thus, we have P(0)=P(1)=0.

The desired results in (3.38c) follow from (3.52) and (3.56) by replacing  $\lambda$  by  $\lambda_l^{\pm}$  and y by  $(x - \bar{x}_k)$ .

**EXAMPLE 3.3.** The Hermite Cubic Eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$ .

Graphs of the Hermite cubic eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  for the case N=4 are given in Figure 3.1.



**Figure 3.1** The Hermite cubic eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  approximating  $\sin(\pi x)$  and  $\sin(2\pi x)$ , respectively, for the case N = 4.

The discrete eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  are approximations to the continuous eigenfunctions  $\sin(\pi x)$  and  $\sin(2\pi x)$ , respectively. Note that each eigenfunction consists of four pieces, and that the arbitrary constants  $D_{\lambda_1^+}$  and  $D_{\lambda_2^+}$  are chosen so the functions have maximum absolute value one.

20

4. The Neumann Problem. Consider the classical Neumann eigenvalue problem

(4.1) 
$$u''(x) = \lambda u(x), \quad x \in (0,1) \\ u'(0) = u'(1) = 0.$$

We again divide the unit interval into N equal subintervals of length h = 1/N and approximate an eigenfunction of (4.1) by

$$U(x) = \sum_{i=1}^{2N} c_i \phi_i(x)$$

for some constants  $c_i$ . For the Neumann case, we choose the  $\phi_i$  to be the 2N Hermite cubics

(4.2) 
$$\{\phi_i\}_{i=1}^{2N} = \{\Phi_0, \Phi_1, \Psi_1, \dots, \Phi_{N-1}, \Psi_{N-1}, \Phi_N\}.$$

Since we have discarded  $\Psi_0$  and  $\Psi_N$ , it follows that  $\phi'_i(0) = \phi'_i(1) = 0$  and hence U'(0) = U'(1) = 0.

As before, we substitute U into (4.1) and collocate at the points  $\{\tau_t\}_{t=1}^{2N}$  in (0,1) defined in (3.3). We obtain the generalized eigenvalue problem

$$(4.3) A c = \lambda B c,$$

where

$$A_{lj} = \phi_j''(\tau_l), \quad B_{lj} = \phi_j(\tau_l), \quad \substack{l = 1, ..., 2N \\ j = 1, ..., 2N.}$$

The generalized eigenvalues and eigenvectors of (4.3) give the Hermite cubic collocation approximations to the eigenvalues and eigenvectors of (4.1).

As in (3.4), the matrices A and B will be banded with bandwidth two. Moreover, since only the differences between the Hermite cubics in (3.2) and (4.2) are the first and last basis functions  $\phi_1$  and  $\phi_{2N}$ , it follows that the only differences between the matrices in (3.4) and (4.3) are the first and the last columns.

**THEOREM 4.1.** The 2N generalized eigenvalues of the discrete Neumann problem  $A c = \lambda B c$  in (4.3) are given by

$$(4.4a) \qquad \qquad \lambda_0 = 0$$

(4.4b) 
$$\lambda_N = \frac{6}{h^2(\theta^2 - y_4)}$$

(4.4c) 
$$\lambda_{l}^{\pm} = \frac{-b \pm \sqrt{b^{2} - 4ac}}{2a}, \quad l = 1, ..., N - 1$$

where

(4.5a) 
$$a = h^4 \left[ (16\theta^4 - 16\theta^2 + 3)d - 8\theta^2 + 2 \right],$$

(4.5b) 
$$b = h^2 \Big[ (-128\theta^2 + 48)d + 48 \Big],$$

(4.5c) 
$$c = 192d$$
,

and where

(4.5d) 
$$d = \tan^2 \left( \frac{l\pi}{2N} \right).$$

Proof. Proceeding as in the proof of Theorem 3.1, we have from (3.7) and (3.9) that

(4.6) 
$$p_k(y) = \alpha_k + \beta_k y + \gamma_k \frac{y^2}{2} + \delta_k \frac{y^3}{6}, \quad -\frac{h}{2} \le y \le \frac{h}{2}, \quad k = 0, \dots, N-1,$$

and

(4.7)  

$$\gamma_{k} = \lambda \left[ \alpha_{k} + \gamma_{k} \frac{\theta^{2} h^{2}}{2} \right],$$

$$\delta_{k} = \lambda \left[ \beta_{k} + \delta_{k} \frac{\theta^{2} h^{2}}{6} \right].$$

If  $\lambda = 0$ , then it follows from (4.7) that  $\gamma_k = \delta_k = 0$  so that (4.6) reduces to  $p_k(y) = \alpha_k + \beta_k y$ . Now, since each piece  $p_k$  is linear and since P is continuous, we must have  $P(x) = \alpha + \beta x$ . Moreover, since  $P'(1) = \beta = 0$ , it follows that

$$(4.8) p_k(\lambda_0; y) = \alpha,$$

where  $\alpha$  is an arbitrary constant. Thus,  $\lambda_0 = 0$  is an eigenvalue of (4.3), which gives the desired result in (4.4a). Note that  $P \equiv \alpha$  is, up to a multiplicative constant, a piecewise approximation to the eigenfunction  $\cos(0\pi x) \equiv 1$  of (4.1).

22

If  $\lambda \neq 0$ , then we may continue as in the proof of Theorem 3.1 to show that  $\gamma_k$  and  $\delta_k$  satisfy

(4.9)  

$$\gamma_k = \hat{A}_\lambda \zeta^k + \hat{C}_\lambda \zeta^{-k},$$

$$\delta_k = \hat{B}_\lambda \zeta^k + \hat{D}_\lambda \zeta^{-k}.$$

To find appropriate values for  $\zeta$ , we impose the boundary conditions P'(0) = P'(1) = 0. We again extend P, only this time as an even function by P(x) = P(-x),  $-1 \le x \le 0$ , and P(x) = P(2-x),  $1 \le x \le 2$ , to obtain the pieces

(4.10) 
$$p_{-1}(\lambda; y) = p_0(-y)$$
 and  $p_N(\lambda; y) = p_{N-1}(-y)$ .

Recall from (3.10) that

(4.11) 
$$p_k(\lambda; y) = \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{y^2}{2}\right) \gamma_k + y \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{6}\right) \delta_k,$$

so that

(4.12) 
$$p'_{k}(\lambda; y) = y \gamma_{k} + \left(\frac{1}{\lambda} - \frac{\theta^{2}h^{2}}{6} + \frac{y^{2}}{2}\right) \delta_{k}.$$

Enforcing the boundary condition P'(0)=0, (4.12) and (4.9) give

(4.13) 
$$p_0(\lambda; -h/2) = \frac{h}{2} \left[ -(\hat{A}_{\lambda} - t\hat{B}_{\lambda}) - (\hat{C}_{\lambda} - t\hat{D}_{\lambda}) \right] = 0$$

where

$$t = \frac{2}{h} \left( \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right).$$

Now, if  $\hat{A}_{\lambda} - t\hat{B}_{\lambda} \neq 0$ , then (4.13) yields

(4.14) 
$$\frac{\hat{C}_{\lambda} - i\hat{D}_{\lambda}}{\hat{A}_{\lambda} - i\hat{B}_{\lambda}} = -1.$$

Similarly, enforcing the boundary condition P'(1)=0, it follows from (4.10), (4.12), and (4.9) that

(4.15) 
$$p'_{N-1}(\lambda;+h/2) = -p'_N(\lambda;-h/2) = -\frac{h}{2} \left[ -(\hat{A}_{\lambda} - t\hat{B}_{\lambda})\zeta^N - (\hat{C}_{\lambda} - t\hat{D}_{\lambda})\zeta^{-N} \right] = 0.$$

Solving (4.15) for  $\zeta$  and using the result in (4.14), we obtain

$$\zeta^{2N} = -\frac{\hat{C}_{\lambda} - t\hat{D}_{\lambda}}{\hat{A}_{\lambda} - t\hat{B}_{\lambda}} = 1 = e^{2\pi i t},$$

from which it follows that

$$(4.16) \qquad \qquad \zeta = e^{\frac{i\pi i}{N}}$$

for any integer l; we take l = 0, ..., N.

Now, since (4.16) is the same as (3.23), the subsequent analysis in the proof of Theorem 3.1 may be applied here as well. However, note that the eigenvalues may be different as a result of the different boundary conditions.

From (3.28) we have that

(4.17) 
$$\tilde{\lambda}_0 = \frac{6}{h^2(\theta^2 - \frac{1}{4})}$$

is a potential eigenvalue of (4.3) with corresponding eigenfunction, given up to a multiplicative constant, by  $p_k(\bar{\lambda}_0; y) = y(y^2 - h^2/4)$ . However, since  $p'_0(\bar{\lambda}_0; -h/2) = p'_{N-1}(\bar{\lambda}_0; +h/2) = h^2/2 \neq 0$ , it follows that  $\bar{\lambda}_0$ is not an eigenvalue of the discrete Neumann problem (4.3).

Similarly, from (3.31) we have that

(4.18) 
$$\bar{\lambda}_N = \frac{2}{h^2(\theta^2 - 1/4)}$$

is a potential eigenvalue with eigenfunction  $p_k(\bar{\lambda}_N; y) = (y^2 - h^2/4)$ . Here,  $p'_0(\bar{\lambda}_N; -h/2) = -5h^2/4 \neq 0$  and  $p'_{N-1}(\bar{\lambda}_N; +h/2) = 3h^2/4 \neq 0$  so that (4.18) is also **not** an eigenvalue of (4.3).

Now, from (3.32) we have that

(4.19) 
$$\lambda_N = \frac{6}{h^2(\theta^2 - 3/4)}$$

is a potential eigenvalue of (4.3) with  $p_k(\lambda_N; y) = y(y^2 - 3h^2/4)$ . Since  $p'_0(\lambda_N; -h/2) = 0$  and  $p'_{N-1}(\lambda_N; +h/2) = 0$ , it follows that  $\lambda_N$  is an eigenvalue of (4.3) thereby giving the desired result in (4.4c). Note that  $p_k(\lambda_N; y)$  is, up to a multiplicative constant, a piecewise approximation to the eigenfunction  $\cos((N+1)\pi x)$  of (4.1).

The remaining analysis in the proof of Theorem 3.1 applies directly here without modification, which gives the remaining desired eigenvalues in (4.4c).

**EXAMPLE 4.1.** The Generalized Eigenvalues of the Discrete Neumann Problem  $A c = \lambda B c$ .

In order to verify the results of Theorem 4.1, we compute the generalized eigenvalues of  $A c = \lambda B c$ in (4.3) using the LAPACK routine SGEGV [1]. We then compare these computed results with those obtained by using the formulas of Theorem 4.1 given in (4.4).

Recall that in the continuous case, the eigenvalues are of the form  $-k^2\pi$ , k = 0, 1, ... Thus, if divided by  $-\pi^2$ , we expect the generalized eigenvalues of (4.3) to approximate k, k = 0, 1, ... Now, for the case N = 4 and  $\theta = \frac{1}{2\sqrt{3}}$ , we obtain the results given below in Table 4.1. We see from Table 4.1 that the formulas of Theorem 4.1 agree up to round-off with the computed results from LAPACK.

### Table 4.1

Eigenvalues of the discrete Neumann problem  $A c = \lambda B c$  divided by  $-\pi^2$  for the case N = 4 and  $\theta = 1/(2\sqrt{3})$ .

λ	Theorem 4.1	LAPACK
λ₀+ λ₁+ λ₂+₃ λ₃- λ₂- λ₂ λ₁	0.00000E+00 1.00017E+00 4.00902E+00 9.06012E+00 1.45902E+01 2.77562E+01 4.04565E+01 5.28336E+01	-3.18064E-07 1.00017E+00 4.00901E+00 9.06012E+00 1.45902E+01 2.77562E+01 4.04565E+01 5.28336E+01

**THEOREM 4.2.** The  $k^{th}$  piece of the Hermite cubic approximate eigenfunction of the Neumann problem (4.1) associated with the approximate eigenvalues  $\lambda_0$ ,  $\lambda_N$ ,  $\lambda_l^{\dagger}$  of Theorem 4.1 is given by

(4.20a) 
$$p_k(\lambda_0; x) = C_{\lambda_0},$$
  
(4.20b)  $p_k(\lambda_N; x) = B_{\lambda_N}(x - \overline{x}_k) \Big[ (x - \overline{x}_k)^2 - 3h^2/4 \Big] (-1)^k, and$ 

(4.20c) 
$$p_{k}(\lambda_{l}^{\pm};x) = C_{\lambda_{l}^{\pm}} \left[ \frac{1}{\lambda_{l}^{\pm}} - \frac{\theta^{2}h^{2}}{2} + \frac{(x - \overline{x}_{k})^{2}}{2} \right] \cos \left[ \frac{(k + \frac{1}{2})l\pi}{N} \right] + B_{\lambda_{l}^{\pm}}(x - \overline{x}_{k}) \left[ \frac{1}{\lambda_{l}^{\pm}} - \frac{\theta^{2}h^{2}}{6} + \frac{(x - \overline{x}_{k})^{2}}{6} \right] \sin \left[ \frac{(k + \frac{1}{2})l\pi}{N} \right],$$

$$for \ l = 1, ..., N - 1,$$

where  $\tilde{x}_k = \frac{1}{2}(x_k + x_{k+1})$ ,  $C_{\lambda_o}$ ,  $B_{\lambda_s}$ ,  $B_{\lambda_t^{\pm}}$  are arbitrary nonzero constants, and where

$$C_{\lambda_l^{\pm}} = \frac{2}{h} \left[ \frac{1}{\lambda_l^{\pm}} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right] \tan\left[ \frac{l\pi}{2N} \right] B_{\lambda_l^{\pm}}.$$

*Proof.* Consider first the case of the eigenfunction corresponding to  $\lambda = \lambda_0 = 0$ . The desired result in (4.20a) follows directly from (4.8) by replacing  $\alpha$  by  $C_{\lambda}$ .

Now, for the case  $\lambda \neq 0$ , we again have from (3.10) and (3.24) that

(4.21) 
$$p_k(\lambda; y) = \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{y^2}{2}\right) \gamma_k + y \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{6}\right) \delta_k,$$

where

(4.22)  

$$\gamma_{k} = A_{\lambda} \sin\left[\frac{(k+1/2)l\pi}{N}\right] + C_{\lambda} \cos\left[\frac{(k+1/2)l\pi}{N}\right]$$

$$\delta_{k} = B_{\lambda} \sin\left[\frac{(k+1/2)l\pi}{N}\right] + D_{\lambda} \cos\left[\frac{(k+1/2)l\pi}{N}\right]$$

For the special case l = N ( $\lambda = \lambda_N$ ), we have from (4.19) that  $\frac{1}{\lambda_N} = \frac{\theta^2 h^2}{6} + \frac{h^2}{8}$ . Substituting l = N

into (4.22), we obtain  $\sin((k+1/2)\pi) = (-1)^k$  and  $\cos((k+1/2)\pi) = 0$ , so that (4.21) reduces to

(4.23) 
$$p_k(\lambda_N; y) = \left(\frac{y^2}{2} - \frac{\theta^2 h^2}{3} - \frac{h^2}{8}\right) (-1)^k A_{\lambda_k} + \frac{1}{6} y \left(y^2 - \frac{3h^2}{4}\right) (-1)^k B_{\lambda_k}$$

Note that

(4.24) 
$$p'_{k}(\lambda_{N}; y) = y(-1)^{k} A_{\lambda_{N}} + \frac{1}{2}(y^{2} - h^{2}/4)(-1)^{k} B_{\lambda_{N}}.$$

Enforcing the boundary condition P'(0) = 0 gives

$$p'_{0}(\lambda_{N};-h/2) = -\frac{h}{2}(-1)^{k}A_{\lambda_{N}} = 0$$

which implies that  $A_{\lambda_{x}} = 0$ . Thus, (4.23) reduces to

(4.25) 
$$p_k(\lambda_N; y) = \frac{1}{6} y \left( y^2 - \frac{3h^2}{4} \right) (-1)^k B_{\lambda_N}.$$

A simple calculation shows that  $p'_{N-1}(\lambda_N; +h/2) \approx 0$  so that  $P'(1) \approx 0$  as well. The desired result in (4.20b) follows from (4.25) by incorporating the factor 1/6 into the arbitrary constant  $B_{\lambda_N}$  and by replacing y by  $(x - \bar{x}_k)$ .

Finally, we consider the remaining cases l = 1, ..., N-1. Analogous to the Dirichlet problem, we first show that  $A_{\lambda} = D_{\lambda} = 0$  for all corresponding eigenvalues  $\lambda$ . From (4.21) we have

(4.26) 
$$p_k'(\lambda; y) = y \gamma_k + \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} \neq \frac{y^2}{2}\right) \delta_k$$

For k = 0, it follows from (4.26) and (4.22) that

(4.27) 
$$p_0'(\lambda; -h/2) = \frac{h}{2} \left[ -A_\lambda \sin\left(\frac{l\pi}{2N}\right) - C_\lambda \cos\left(\frac{l\pi}{2N}\right) + iB_\lambda \sin\left(\frac{l\pi}{2N}\right) + iD_\lambda \cos\left(\frac{l\pi}{2N}\right) \right]$$

where

$$t = \frac{2}{h} \left( \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{8} \right).$$

Moreover, substituting k = N-1 into (4.22), we obtain

$$\cos\left(\frac{(N-l/2)l\pi}{N}\right) = (-1)^l \cos\left(\frac{l\pi}{2N}\right) \quad \text{and} \quad \sin\left(\frac{(N-l/2)l\pi}{N}\right) = -(-1)^l \sin\left(\frac{l\pi}{2N}\right),$$

so that

(4.28) 
$$p'_{N-1}(\lambda; -h/2) = (-1)^{l} \frac{h}{2} \left[ -A_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + C_{\lambda} \cos\left(\frac{l\pi}{2N}\right) - tB_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + tD_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right].$$

Now, from the boundary conditions P'(0) = P'(1) = 0, we have  $p'_0(\lambda; -h/2) = 0$  and  $p'_{N-1}(\lambda; +h/2) = 0$ , so that (4.27) and (4.28) give

$$-A_{\lambda}\sin\left(\frac{l\pi}{2N}\right) - C_{\lambda}\cos\left(\frac{l\pi}{2N}\right) + tB_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + tD_{\lambda}\cos\left(\frac{l\pi}{2N}\right) = 0$$
$$-A_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + C_{\lambda}\cos\left(\frac{l\pi}{2N}\right) - tB_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + tD_{\lambda}\cos\left(\frac{l\pi}{2N}\right) = 0,$$

respectively, which when added yield

(4.29) 
$$iD_{\lambda} - A_{\lambda} \tan\left(\frac{l\pi}{2N}\right) = 0.$$

Also, from (4.21) and (4.22), we have

(4.30) 
$$p_{0}(\lambda; -h/2) = rA_{\lambda} \sin\left(\frac{l\pi}{2N}\right) + rC_{\lambda} \cos\left(\frac{l\pi}{2N}\right) - sB_{\lambda} \sin\left(\frac{l\pi}{2N}\right) - sD_{\lambda} \cos\left(\frac{l\pi}{2N}\right)$$

and

(4.31) 
$$p_{-1}(\lambda; +h/2) = -rA_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + rC_{\lambda}\cos\left(\frac{l\pi}{2N}\right) - sB_{\lambda}\sin\left(\frac{l\pi}{2N}\right) + sD_{\lambda}\cos\left(\frac{l\pi}{2N}\right)$$

respectively, where

$$r = \frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{h^2}{8}$$
$$s = \frac{h}{2} \left[ \frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{h^2}{24} \right]$$

20

Now, since  $p_{-1}(\lambda; +h/2) = p_0(\lambda; -h/2)$ , we equate (4.30) to (4.31) and simplify to obtain

(4.32) 
$$rA_{\lambda} \tan\left(\frac{l\pi}{2N}\right) - sD_{\lambda} = 0.$$

From (4.29), we have  $rA_{\lambda} tan \left[ \frac{l\pi}{2N} \right] = rtD_{\lambda}$  so that (4.32) reduces to

$$(rt-s)D_{\lambda}=0.$$

Now, in order to show that  $D_{\lambda}=0$ , suppose that  $D_{\lambda}\neq 0$ . From the above, we have rt=s so that the difference equations in (3.18) and (3.19) reduce, respectively, to

$$\gamma_{k-1} - 2\gamma_k + \gamma_{k+1} = \gamma_{k-1} + 2\gamma_k + \gamma_{k+1},$$

and

$$\delta_{k-1} - 2\delta_k + \delta_{k+1} = \delta_{k-1} + 2\delta_k + \delta_{k+1},$$

However, this yields  $\gamma_k = \delta_k = 0$ , which results in  $p_k \equiv 0$ , or  $P \equiv 0$ . Thus, we must have  $D_{\lambda} = 0$ . Furthermore, since  $r \neq 0$  and  $\tan\left(\frac{l\pi}{2N}\right) \neq 0$ , (4.32) shows that  $A_{\lambda}=0$  as well. Thus, we must have  $A_{\lambda}=D_{\lambda}=0$ 

for all remaining eigenvalues  $\lambda$ .

Now, with  $A_{\lambda} = D_{\lambda} = 0$ , the expression for  $p_k$  in (4.21) reduces to

$$(4.33) \quad p_k(\lambda; y) = \left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{2} + \frac{y^2}{2}\right) C_\lambda \cos\left(\frac{(k+1/2)l\pi}{N}\right) + y\left(\frac{1}{\lambda} - \frac{\theta^2 h^2}{6} + \frac{y^2}{6}\right) B_\lambda \sin\left(\frac{(k+1/2)l\pi}{N}\right)$$

where  $C_{\lambda}$  and  $B_{\lambda}$  are arbitrary constants. Note that

$$p'_{k}(\lambda; y) = yC_{\lambda} \cos\left(\frac{(k+1/2)!\pi}{N}\right) + \left(\frac{1}{\lambda} - \frac{\theta^{2}h^{2}}{6} + \frac{y^{2}}{2}\right)B_{\lambda} \sin\left(\frac{(k+1/2)!\pi}{N}\right).$$

We next choose  $C_{\lambda}$  and  $B_{\lambda}$  so that P satisfies the boundary conditions P'(0)=P'(1)=0. To this end, we set

$$p'_{0}(\lambda; -h/2) = \frac{h}{2} \left[ tB_{\lambda} \sin\left(\frac{l\pi}{2N}\right) - C_{\lambda} \cos\left(\frac{l\pi}{2N}\right) \right] = 0,$$

.

from which it follows that we must have

(4.34) 
$$C_{\lambda} = t B_{\lambda} tan \left[ \frac{l \pi}{2N} \right].$$

Also, since

$$p_{N-1}'(\lambda; +h/2) = (-1)^{l} \frac{h}{2} \left[ C_{\lambda} \cos\left(\frac{l\pi}{2N}\right) - tB_{\lambda} \sin\left(\frac{l\pi}{2N}\right) \right]$$

it follows from (4.34) that  $p'_{N-1}(\lambda;+h/2)\approx 0$  as well. Thus, P'(0)=P'(1)=0.

The desired results in (4.20c) follow from (4.33) and (4.34) by replacing  $\lambda$  by  $\lambda_i^{\pm}$ , and by replacing y by  $(x - \bar{x}_k)$ .

**EXAMPLE 4.2.** The Hermite Cubic Eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  for the Discrete Neumann Problem.

Graphs of the Hermite cubic eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  for the case N = 4 are given in Figure 4.1.



Figure 4.1 The Hermite cubic eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  approximating  $\cos(\pi x)$  and  $\cos(2\pi x)$ , respectively, for the case N = 4.

The discrete eigenfunctions  $P(\lambda_1^+;x)$  and  $P(\lambda_2^+;x)$  are approximations to the continuous eigenfunctions  $\cos(\pi x)$  and  $\cos(2\pi x)$ , respectively. Note that each eigenfunction consists of four pieces, and that the arbitrary constants  $B_{\lambda_1^+}$  and  $B_{\lambda_2^+}$  are chosen so the functions have maximum absolute value one.

5. Conclusions. We have given explicit closed-form expressions for the Hermite cubic approximations to both the eigenvalues and the eigenfunctions of the Laplace operator for both the Dirichlet and the Neumann problems. Moreover, for the Dirichlet case, we have shown that optimal approximations are obtained using the Gauss points for collocation points. For both cases, we have given numerical examples that verify our theoretical results. Our results apply directly to a number of iterative techniques used to solve the linear system arising from Hermite cubic approximations to large classes of separable, elliptic partial differential equations.

#### REFERENCES

 E. Anderson, Z. Bai, C. Bischof, J. Demmel, J. Dongarra, J. Du Croz, A. Greenbaum, S. Hammarling, A. McKenney, S. Ostrouchov, and D. Sorensen, *LAPACK User's Guide*, Society for Industrial and Applied Mathematics, Philadelphia, 1992.

- [2] B. Bialecki, G. Fairweather, and K. R. Bennett, "Fast Direct Solvers for Piecewise Hermite Bicubic Orthogonal Spline Collocation Equations," Siam Journal on Numerical Analysis, 29(1992), pp. 156-173.
- [3] G. Birkhoff and R. E. Lynch, *Numerical Solution of Elliptic Problems*, Society for Industrial and Applied Mathematics, Philadelphia, 1985.
- [4] K.D. Cooper and P. M. Prenter, "Alternating direction collocation for separable elliptic partial differential equations," SIAM Journal on Numerical Analysis, 28(1991), pp. 711-727.
- [5] C. de Boor, I Practical Guide to Splines, Springer-Verlag, 1978.
- [6] C. de Boor and B. Swartz, "Collocation at Gaussian points," SIAM Journal on Numerical Analysis, 10(1973), pp. 582-606.
- [7] C. de Boor and B. Swartz, "Collocation approximation to eigenvalues of an ordinary differential equation: the principle of the thing," *Mathematics of Computation*, 35(1980), pp. 679-694.
- [8] C. de Boor and B. Swartz, "Collocation approximation to eigenvalues of an ordinary differential equation: Numerical illustrations," *Mathematics of Computation*, 36(1981), pp. 1-19.
- [9] W. R. Dyksen and J. R. Rice, "A new ordering scheme for the Hermite bicubic collocation equations," in *Elliptic Problem Solvers III*, (G. Birkhoff and A. Schoenstadt, eds.), Academic Press, 984, pp. 467-480.
- [10] W. R. Dyksen and J. R. Rice, "Scale factors for the Hermite bicubic collocation equations," Advances in Computer Methods for Partial Differential Equations-V, (R. Vichnevetsky and R. Stepleman, eds.), International Association for Mathematics and Computers in Simulation, New Brunswick, NJ, 1984, pp. 207-209.
- [11] W. R. Dyksen, R. E. Lynch, J. R. Rice and E. N. Houstis, "The performance of the collocation and Galerkin methods with Hermite bi-cubics," SIAM Journal on Numerical Analysis, 21(1984), pp. 695-715.
- [12] W. R. Dyksen, "A tensor product generalized adi method for elliptic problems on cylindrical domains with holes," *Journal of Computational and Applied Mathematics*, 16(1986), pp. 43-58.
- [13] W. R. Dyksen, "Tensor product generalized adi methods for separable elliptic problems," SIAM Journal on Numerical Analysis, 24(1987), pp. 59-76.
- [14] W. R. Dyksen, "A tensor product generalized adi method for the method of planes," Numerical Methods for Partial Differential Equations, 4(1988), pp. 283-300.
- [15] R. Russell and W. Sun, "Spline Collocation Differentiation Matrices," SIAM Journal on Numerical Analysis, 34(1997), pp. 2274-2287.
- [16] W. Sun, "A high order direct method for solving Poisson's equation on a disc," Numerishe Mathematik, 70(1995), pp. 501-506.
- [17] W. Sun, "Iterative algorithms for othogonal spline collocation linear systems," SIAM Journal on Scientific and Statistical Computing, 16(1995), pp. 720-737.
- [18] S. Wolfram, The Mathematica Book, Third Edition, Wolfram Media, Inc. and Cambridge University Press, 1996.